Total Diamond Products, 21 Buckwins Square,
Burntmills Industrial Estate, Basildon, SS13 1BJ

Spare Parts Price List - Diamond Core Drill Type DK118

Fig [No |Description |Standard  [Part No
Motor - DK1 except

Intermdiate Flange with O- DK11102-1C
2 1|Ring
Gear
100 1|Gear Box DK11201.8

Clamp Ring cpl. With Fig. DK12202C
105 11300, 315
110 1|Extension DK12222
115 1|Drill Spindle 1 1/4" DK11206D
119 1|Pinion Shaft DK11208.8

Spur Wheel cpl. With DK12209C
120 1|Bearing Socket
125 1|Spindle Wheel DK11215.8
135 1|Brake Disc DK10218
145 1|Pressure Disc DK10219
150 1|Bearing Socket DK11221.8
160 1]Vacuum adapter DK11230.8
165 1{Locking Clip DK11234.8
180 1|Shim Ring PS37x47x1 1937471
185 1|Shim Ring PS10x16x1 (1910161
190 1|Handle 8900014
192 1(Ball Bearing 629 6062900
195 1|Ball Bearing 6005 2RS  |6060052
205 2[Needle Bush HK1010 6310100
210 1|10-Ring RDR78x2  [5578002
235 1|Rotary Shaft Seal A16x30x7 |5016307
250 1[Disk Spring 28x14,2x1,5 4028142
255 1|Hexagon Nut BM12x1,5 (1012015
265 1|Parallel Pin 4m6x10 2504010
270 1|Retaining Ring Alaxl 3514001
275 1|Retaining Ring A25x1,2 3525012
280 1|Retaining Ring JATX1,75 3447175
282 1|Retaining Ring SW12x1 3612000
285 1|Parallel Key Adx4x10 3004010
286 1|Parallel Key Adx4x12 3004012
290 1{Hexagon Socket Screw M5x70 0105070
295 3|Hexagon Socket Screw M5x50 0105050
300 1{Wing Screw M6x40 0506040
310 4]Locking Washer SM5 1805000
315 1|Medium Washer Ab6,4 1806125

1|Gear Oil 90ml 9009001
1|Carrying Case DK10810




For spare parts requests please email : kim@totaldiamond.co.uk or ellie@totaldiamond.co.uk

For any questions regarding repairs please contact our service department at
ritchie@totaldiamond.co.uk.

Total Diamond Products, 21 Buckwins Square,
Burntmills Industrial Estate, Basildon, SS13 1BJ




